
MATHCAT2A & 28 ANSWERS AND MARKINC SCHEME

SECTION A

I A B c D
) A B D E
1 A c D E

4 A B c D

5 A B D E
6 A B D E

B c D E
8 A B c E
9 A B D E

l0 A c D E
l l A B c D
t2 A B c E
l3 A B c E
t4 A B D E
15 A B c E
16 A B c D
t7 A B D E
1E B c D E
19 A c D E
7,O B c D E
2l A c D E
) ) A c D E
23 A B c E
A A B D E
)< B c D E
26 A B c E
27 B c D E

2E A B c E
29 A B c D
30 A c D E
3l B c D E
32 A B c D
33 B c D E
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Question I

A 1

M I

A I

a.

b.

2 x + h = 3 e  h  - 3 - 2 x

S = 4x2 +4. r (3-  2x)  = 12,  -  4x2 + 4 = r ,  - t ,
atx

, c  1 1

N o w . : = 0 c + x = : - = 1 . 5
d x 8

(Use either sign of first derivative or graph to show local maximum occurs) A I

Question 2

Question 3

a  =  3 ,

Question 4

. '  dv  2x
)  =  l o g . ( i -  +  t ) - ;  = ; r +  

I

w h e n x  = t . 4 = ? = t
a x z

M I  A 1

A I

A I

M 1

b = 2
I t

a.

b.

= (9n - cos(6a)) - (0 - cos(o))

= 9 r - l + l = 9 n A I

a. xsB,z(lo,o.3).

Therefore, P(X > l) = I - P(X = 0) = l-'0co(0.3)o(0.?;'o = 9.972

Assumption: each trial is independent and identical to the previous one.

M 1

A 1b.

n'"u = [(r + zs in(2x)fu = [rx - cos(zx)]l'
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Question 5

( 0 + 0 . 1 )  +  ( k  + 0 . 1 )  +  ( 2 k  + 0 . 1 )  +  (  3 k  + 0 . 1 )  =  l '

Therefore, 6k + 0.4 = l. That is k = 0. l.

E(x) = 0(0.1) + 1(0.2) + 2(o'3) + 3(o.4) = 2

Question 6

kt X be the score obtained by students, thercfore XgN(65,81)'

Now, p(X <7q = P(z s7l ;Pl= tr t .  l )  = 0.8413
\ > . )

Therefore student is ranked 84 th or 85 th'

A 1

M I  A I

M 1

A I
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